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ma Assignment e—

Complete pgs. 376 - 377
Questions 7, 8(abe), 9, 10
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Solutions ————————
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= Solutions -————————————

8 SKetch the graph of eoch function.
State the iHtercepts and the domain
and range.

Q) Y= |-~ |

O Determine the y-int 3 ®® etermine the X-intss
'tj‘—* Lo)2-M | O=\~>-4!
o= lo-4]| . . S0 =Yy

= 1-4] | o= (x-2)(x+2) ,
| =4 , =20 or X+2=0

'X-._-:z', ’)(:-L

® G:mp\eﬁre the sSquare to determine
+he vertex s

= \X"—"I |
=1 %: 'x.a'-—’\-l 5
U: (%x-0) *H(\Jc\jus-h\t}ed‘%o rewrite inthis case)
Yertex: (0)'"‘4)

@ Gmp'n p ® Domain,

| {xIxeRr}

ange

\ | ;x {%‘\gaOJBER}
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m Solutions -t
b) U=\X*+Su+6l

Derermine Hhe y-ints @ Determine the x-intss

y= | (O)* +50)+6 | O=|%x*5%x+6!
y= lO+0+6| 0= X*+5Xx+06

= 16\ O= (X+2)(X+3)
%: G X+2=0 or X+3=0

K="2, xX=-3

mplete the square To determine
e Meprey

©)

F0p

48X +6 |
'ng- 5%+ 6
(O*+5%) + 6

= <X‘+Sx+%‘5-%§)+6
y= (X*+5% —1;%5) "G
y= (X g) s+
Y= (**3) %
Vertexs _("i -1)
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::g -4 —” : -?._ci 4 5 5 5'\'*1
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Solutions -—————————

e) glx)= | (x-3)*+ 11

® Determine the \.—-mi—i ®®e+c:rmme -Fhé 'x—iw\-é';
y=|(0-3)*+11 o= |(Xx-3)*+1]|

-

y=| (3)*+1| = 0= (%X-3*+4
a= 1 9+4] O= (%x-3)(X-3)+ 1.
= |10l O= x*~3%X-3X+9+4

= 10 | O= x*~bX+ 10
% Connot be factored

5 No X=in+s.

©) Comp\e,{rc The square +o determine
SThie vertexs

y=1(x-3y+41 37
=) g= (X-3)*+ 4 (_A\,rc:od\; in vertex form )

Vertexs (3,1)

@ Gro.p‘n‘& | w4y | | & Domains
| Lﬁi;’ x| xeRr}
EEEENYERERY .
i ‘ E1k Y N ange o
| j |—‘ o . {_\F}J‘U&“!JHER}
HEEEREREER [ 1] -
‘ ik ' ||
3
|2
il
N -:L‘i S
RN |
_ | | L 1N
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m Solutions -—,seeee———

. ”‘Nr{-\-e +he piccewise funchon that
represents cach graph.

B*-f-....@')(“l_, if x21
v )-C2x-2) 0 fF x<A

al NP/

b) - = $3%x+6, iFX2-2,

RN %, SR T v I

Q) H'—“ "2"’)(,—1,\?')(},
-(Fx-1) 2 f x<2
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m Solutions -—,seeee———

10. What piecewrse function could Vou
use do represent each agraph of
an absclute value function?

Cﬂ | — ﬂ - _ - ’5 — {-2.')(1' Q) £ x= -lor X241

(2x-2) 1 fF -Aexe]

\ferea

T2l _oi 112 3 (%

_y=|x— 157025

Y= (X-1.5)=0.25 1% X<1lor X22
[ 157-0.28] ) 1 1<x<2

UZ{ 3(%-2)-3, |f X< or X23
[3(x-2-3] 1€ 1<x<3

R oi ENENERE N
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